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L i T oEn T aem [ s [ mA]  FER
M| 4 AR XB EIGEEERE RE 4 11.800 6.700 6.600 0.00 25.100
207 | 13 LS HIGPERERRE K 2 12.300 6.000 5.400 0.00 23.700
3| 12 il B REARZERERRFE 4 10.200 6.900 6.550 0.00 23.650
47 | 16 A B JUM BN R 1 10.500 6.500 6.550 0.00 23.550
57| 11 | B /NEiR BIGEERE KFE 3 10.000 6.650 6.300 0.00 22.950
67| 6 R OFEH E IR EEERE R 4 10.300 6.550 5.800 0.00 22.650
| 3 LT EF EEEREMLRE 1 9.700 6.450 6.300 0.05 22.400
8fir | 10 HA OLIE B W P AR R 2 9.800 5.350 5.700 0.00 20.850
L | 5 EEES TEKEZFRFE 3 8.500 6.100 5.700 0.00 20.300
1067] 1 ot #ER EIREERE RS 1 7.600 5.850 5.650 0.00 19.100
11{if A 77 B IREEREE K 3 8.600 5.600 5.050 0.30 18.950
121 %iE 0D B IR K 2 8.000 4.900 4.250 0.00 17.150
137] 14 KE =i EIREERE KR 4 6.800 5.400 4.750 0.00 16.950
44z| 8 e W &R LR 4 4.800 5.250 5.050 0.00 15.100
15| 15 S YN TEREZFRE 3 5.000 4.800 4.600 0.00 14.400
A & ARIIE BIREERE RS 4 4.700 4.550 4.200 0.35 13.100
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T | 4 i X8 EIREERE KT 4 11.000 6.650 6.700 0.00 24.350
267 | 12 ik B REARZER RS 4 10.800 6.650 6.100 0.00 23.550
3| 13 BT BEER BIREERE K 2 9.700 6.000 5.750 0.00 21.450
M| 9 H%iE 0y BIREERE KT 9 9.300 5.950 6.000 0.00 21.250
57| 7 N B IR PESERRE K 3 9.700 5.550 5.450 0.00 20.700
667 | 11 | B /hER HIREERE KE 3 8.900 6.250 5.200 0.00 20.350
73 LI EF EREREERE 1 8.600 6.100 5.450 0.00 20.150
8{ir B XF TEKELFRE 3 7.900 6.200 5.950 0.00 20.050
9fiz | 10 HA LB HIRERERRE R 2 8.600 5.400 5.400 0.00 19.400
1067| 6 B FEFE B EERE RE 4 8.000 6.100 5.100 0.00 19.200
10i7| 16 AH BER IR B vy 1 8.300 5.800 5.400 0.30 19.200
1207] 1 ot Eg EIRPERERE KT 1 7.900 5.450 5.100 0.00 18.450
137 8 WE W TEK T RE 4 5.900 5.500 5.100 0.00 16.500
147) 15 R Eo TEK TR 3 5.200 4.850 4.250 0.00 14.300
1567 2 B RIVE B EREARE R 4 4.500 4.400 4.300 0.05 13.150
1607 14 KRR I EUEEERE R 4 3.200 4.750 4.000 0.60 11.350
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M| 11| EW /hEi BIGEERE AT 3 11.600 6.250 6.200 0.00 24.050
2L | 4 R XE B IR AR K 4 11.000 6.600 6.350 0.00 23.950
367 | 13 BT BEER BIREERE K 2 11.300 6.100 6.150 0.00 23.550
4fr | 16 AH B JUPN ST K 1 10.500 6.400 6.250 0.00 23.150
507 | 6 i FE B EEERE R 4 9.800 6.550 6.100 0.00 22.450
67| 7 N B IR AR R 3 10.600 5.700 5.750 0.00 22.050
70 ¥ EZE [E PR ERE LR 1 10.200 5.600 5.600 0.00 21.400
8fir Wor Ei EURPEERE RF 1 9.400 6.000 5.850 0.00 21.250
9z | 12 il EEE REARZRE AR 4 9.300 6.300 5.750 0.30 21.050
10fi2] 10 FHAR LTE B IRPEERRE K 2 8.700 5.700 5.900 0.00 20.300
11{iZ Bl EH TEKEZ TR 3 7.900 5.950 5.450 0.00 19.300
1237 H®iEE 0y EIRREERE K 2 7.200 5.800 5.950 0.00 18.950
13| 14 KK BE EIGEERE R 4 6.800 5.200 4.500 0.60 15.900
1447| 15 BE TEKEFRE 3 5.100 4.850 4.450 0.00 14.400
1501 EF A& HIFEERERE 4 5.000 4.600 4.050 0.60 13.050
16{i% FHE W TEK TR 4 0.000 0.000 0.000 0.00 0.000
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1z | 12 mify B REARER RS 4 10.200 6.850 6.550 0.00 23.600
247 | 13 B BEEB EIRERERE K 2 10.200 6.100 5.750 0.00 22.050
3r| 3 L &F EREREERF 1 9.800 5.900 6.000 0.00 21.700
apr| 7 NE T EIFEERE KT 3 9.400 6.150 6.050 0.00 21.600
507 | 4 AR B EIREERE R 4 9.100 6.150 5.900 0.00 21.150
6fiz | 10 FAR I B IR EE SR R 2 8.800 5.650 5.650 0.05 20.050
| 11| EM OER B IR R SRR R 3 8.600 6.300 5.500 0.60 19.800
8fir | 16 A BR YR B v 1 7.800 5.950 6.000 0.00 19.750
9z | 9 BE 0Ty HIREERE KT 2 7.800 5.800 5.900 0.00 19.500
1067] 5 i £F TEKEZ TR 3 6.800 6.050 5.950 0.00 18.800
1147] 6 E OFE EIREERE K 4 7.600 6.050 5.250 0.30 18.600
1247f 1 e i BIREERE KFE 1 7.500 5.400 5.500 0.00 18.400
1347] 15 BE R AR EFRE 3 5.200 5.050 4.500 0.00 14.750
1307| 14 KR =i EIREERERE 4 4.800 5.200 4.750 0.00 14.750
1567 2 & A% EIFPEREREE R 4 4.700 4.350 4.100 0.00 13.150
1607 8 WEE W TEKI PR 4 0.000 0.000 0.000 0.00 0.000
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| 4 FA B BIREERERTE 4 125100 1 |24350 ] 1 |23950| 2 | 21.150] 5 94.550 —
207 | 12 mil B REARZERAFE 4 | 23650] 3 |23550| 2 | 21.050| 9 | 23.600 | 1 91.850 2.700
3hE | 13 HR BEER BIREERERE 2 123700 2 |21.450| 3 | 23550 | 3 | 22.050 | 2 90.750 1.100
Mr| 11| B hER EIFEERERE 3 §22950| 5 | 20350 6 | 24.050| 1 | 19800 | 7 87.150 3.600
5(i | 16 AH BER RIS 1 {23550 | 4 | 19.200| 10 | 23.150 | 4 | 19.750 | 8 85.650 1.500
57| 3 LB EF EEEREERTE 1 |22.400| 7 |20.150] 7 | 21.400| 7 | 21.700 | 3 85.650 0.000
M| 7 ANE &7 EIREERERFE 3 | 18.950 | 11 | 20.700 | 5 | 22.050 | 6 | 21.600 | 4 83.300 2.350
8| 6 B FEE HIREERERZE 4 §22650| 6 | 19.200| 10 | 22.450 | 5 | 18.600 | 11 82.900 0.400
9z | 10 BFAR E EIREERERFE 2 120850 8 | 19.400 | 9 | 20.300| 10 | 20.050 | 6 80.600 2.300
106z] 5 B =8 TEKRELFREFE 3 120300] 9 | 20050 8 | 19.300| 11 | 18.800 | 10 78.450 2.150
1f7] 1 e HEf BIGEERE R 1 | 19.100 | 10 | 18.450 | 12 | 21.250 | 8 | 18.400 | 12 77.200 1.250
1202 9 ®E OFY EIREERE R 2 | 17150 | 12 | 21.250 | 4 | 18.950 | 12 | 19.500 | 9 76.850 0.350
1307] 14 KR T BIREERERE 4 | 16.950 | 13 | 11.350 [ 16 | 15.900 | 13 | 14.750 | 13 58.950 17.900
144z| 15 FHRE D EAKIFRE 3 | 14.400 | 15 | 14.300 | 14 | 14.400 | 14 | 14.750 | 13 57.850 1.100
152 2 H AE BIGEERE KFE 4 | 13.100 | 16 | 13.150 | 15 | 13.050 | 15 | 13.150 | 15 52.450 5.400
1667 8 FE W BRI FRE 4 |15.100| 14 | 16.500 | 13 | 0.000 | 16 | 0.000 | 16 31.600 20.850
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1 | HIREERERE 9.000 4.900 3.350 0.30 16.950
2 i ] K5 7.100 4.450 3.450 0.30 14.700
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1 I R 12.600 6.000 5.950 0.00 24.550
2 | BIREERERF 12.700 5.350 4.100 0.00 22.150
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